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1. A patient presents with muscle weakness. To assess his condition, you test his knee-jerk reflex by tapping his patella tendon with your hammer. Next you examine the jaw-jerk reflex. An increased or exaggerated reflex response will imply: 
a) An intact reflex arc. 

b) A lower motor neuron lesion. 

c) A lesion involving the fasciculus cuneatus and gracilis

d) A lesion involving the corticospinal tract.

2. A 23 year old woman has sudden onset of fever, headache, and confusion lasting three days. Her physical examination shows disorientation, neck stiffness and a positive Kernig’s test. A spinal tap yields a CSF that is pink and DNA analysis indicates Human Syncitium Virus infection. Considering this clinical picture she most correctly suffers from 

a) Bacterial meningitis 

b) Tuberculosis of the meninges 

c) A space occupying lesion in the meninges 

d) Viral meningitis 

3. A 45-year-old man with an 8-year history of HIV sees his physician because he has had difficulty at his job as an accountant. He tells his physician that he was always good with maths, but now he finds calculation difficult, he has trouble reasoning and he gets confused easily if there is more than one event occurring. His physician should request:

a) A Magnetic Resonance Imaging (MRI) 

b) A Computerized Tomography (CT) scan 

c) A chest  X-ray

d) A lumbar puncture

4. An 18- year-old girl with recent onset of headaches, nausea, and cognitive difficulties is diagnosed with communicating hydrocephalus. Her head circumference measurement however, has not shown any change. Why has the girl not developed  any enlargement of the head?

a) Because it is still too early for head circumference to start increasing.

b) Because there is nothing to enlarge it.

c) Because the fontanelles and the fissures of the cranial bones have already closed at her age.

d) Because the cause of the hydrocephalus at that age is most probably a virus. 

5. A 29 year-old obese woman sees her physician because of a recent increase in headaches. On questioning she indicates that she gets relief from the headaches after a nap or some sleep. An examination indicates the headache affects the temporo-frontal parts of the head, but a CT scan and MRI show no abnormalities. A likely reason for this woman’s symptoms is:

a) Space occupying lesion (SOL)

b) Meningitis

c) Tension and stress

d) Hydrocephalus 

6. A 47- year-old woman is found comatose in her hotel room with no signs to suggest trauma or foul play. A quick hand sweep across her nose and mouth reveals the smell of acetone. Her respiration is slow and shallow and her pupils are myopic. The most appropriate Physiotherapy for a patient in this clinical state is
a) Weight bearing and postural reflex training exercises

b) Breathing exercises with passive physiological movements to all limbs.

c) Absolute bed rest.

d) Resisted exercises by means of proprioceptive neuromuscular facilitation techniques.

7. A 28 year-old man was shot outside a bar during an argument. He was rushed to the casualty where physical examination revealed impairment of pinprick sensation in his left lower extremity. Vibration sensation was intact on his trunk and limbs. What is the most likely location of a lesion causing these symptoms?
a) Fasciculus gracilis

b) Corticospinal tracts 

c) Spinothalamic tracts

d) Spinocerebellar tracts 

8. A 50 year-old man who comes into your office tends to slap his feet down on the floor as he walks. He says he feels like he is walking on cotton wool. On examination you find that he cannot tell the position of his lower limb joints when you move them passively and that there is decreased tactile and vibration sensation in both lower limbs. Sensation to pin prick is normal. The most likely reason for these symptoms is: 

a) Syringomyelia 

b) Brown-Sequard Syndrome 

c) Tabes Dorsalis 

d) Myasthenia Gravis 

9. A 54- year-old woman is found comatose along a village path with no signs to suggest trauma or foul play. A quick hand sweep across her nose and mouth does not reveal any suggestive smell. Her respiration is slow and shallow and one of her lower limbs is laterally rotated. What should be the first approach towards establishing the cause of coma?
a) Find out from her what happened.

b) Do a blood sugar test.

c) Take blood pressure measurement.

d) Take her pulse reading in beats per minute.

10. A 37-year-old street preacher comes to you with his face drawn towards the right side. He denies being assaulted or involved in any form of trauma. What practical steps should you take to know his correct diagnosis?

a) Test his blood sugar.

b) Measure his blood pressure.

c) Take a detailed medical history and socio-economic history and then corroborate this with blood pressure measurement.

d) Test for deep tendon reflexes only.

11. You are instructed by the Physician to give physiotherapy to a 50-year-old man with hemiplegia of the right side, following stroke and expressive aphasia. Which of the statements below is correct, regarding your intervention?

a) Early mobility in a wheelchair is recommended.

b) There is no need to talk to the patient because he is aphasic.

c) He should be encouraged to bear weight and get out of bed as soon as his vital signs are stable.

d) All the answers above are correct.
12. You are called upon to give your opinion on the category of patients who will NOT benefit from PNF and should therefore not be referred to a clinic in Israel which specializes in management of patients with PNF.
a) Any patient with generalized weakness.

b) A recovering hemiplegic.

c) Patients with cerebellar lesions.

d) Patients with flaccid weakness of the muscles.

13. Patient Q suffered a prolapsed of the L3-L4 intervertebral disc. Which of these resultant clinical lesions can he present with?

a) Parkinsonism.

b) Braun Sequard Syndrome.

c) Diabetic polyneuropathy.

d) Sciatica.
14. Mr Juma Mnazi fell from a height and suffered a complete spinal cord transection injury at T10. The clinical state that best describes his weakness is 
a) Paraparesis.

b) Paraplegia.

c) Quadriplegia.

d) Hemiplegia.

15.  A 19-year old brick layer suffered an iatrogenic injury to his left sciatic nerve post injection. As a result he has suffered flaccid paralysis. He therefore presents with

a) Wrist drop.

b) Foot drop.

c) Exaggerated deep tendon reflexes.

d) Impaired extension of the left knee joint.

16. Which of these vitamins if deficient will cause neurological disorders?

a) Vitamin E 
b) Vitamin B12.
c) Vitamin C

d) Vitamin K

17. A 7-year- old boy has been referred to you by the consultant neuro-surgeon. The referral note indicates that the child has a lesion in the brain stem. Which of these sets of equipment is appropriate for your intervention?

a). Balance board and gymnasium ball.

b). Gymnasium ball and Spastic chair.

c). Standing frame and Balance board.

d). Spastic chair and Standing frame. 

18. An 8-year- old boy has infantile hemiplegia of the left side.  The appropriate Physiotherapy for this child would be 

a). Soft tissue manipulation with olive oil.

b). Passive physiological movements.

c). Proprioceptive neuromuscular facilitation. 

d). Static bicycle exercises.

19. What is the appropriate management and positioning for a child with tetraplegic cerebral palsy and marked spasticity of the flexors and adductors of the hip?

a). Passive physiological movement then position in prone lying with both hips abducted.

b). Passive physiological movement then position in prone lying with both hips adducted.

c). Passive physiological movement then position in supine lying with both hips abducted.

d). Passive physiological movement then position in supine lying with both hips adducted.

20. A 5-year- old girl has a lesion in the pyramidal system. Which of the following findings is likely to be elicited by a neurological assessment?

a). Cog-wheel rigidity with slightly exaggerated deep tendon reflexes.

b). Lead-pipe rigidity with normal deep tendon reflexes.

c). Spastic paralysis, clasp-knife rigidity with exaggerated deep tendon reflexes.

d). Flaccid paralysis with diminished deep tendon reflexes.

21. A 5-year- old boy in a rehabilitation school has a head circumference of 62 cm. He has optimal function of the upper limbs but only able to stand upright while leaning against a wall. An assessment of the nervous system elicits weak lower limb muscles generally at power grade 3 on Oxford scale with bilateral ankle clonus. What approach is most appropriate for his rehabilitation?

a). Graduated resisted exercises to the limbs, full leg braces and mobilize in bilateral axillary crutches.

b). Graduated resisted exercises to the limbs, encourage standing upright against a wall and mobilize in a wheelchair.

c). Graduated resisted exercises to the limbs, encourage standing upright against a wall and mobilize in a walking frame.

d). Graduated resisted exercises to the limbs and mobilize with no leg support in bilateral axillary crutches.

22. A 7-year- old boy in a neurosurgery ward presents with a space occupying lesion. Which of the following tests will not be helpful in locating the lesion in the cerebellum?  

a). Finger-nose test.

b). Heel-shin test.

c). Frenkel’s test.

d). Romberg’s test.

23. This child sustained a deep cut in mid left arm yesterday. Which neurological assessment would you perform to rule out nerve injury?

a). Ask the child to open his left hand and extend his wrist then squeeze your wrist tightly.

b). Place a piece of paper between his left fingers then ask the child to press hard and not let you pull the paper away.

c). Ask the child to flex his left thumb and all the fingers.

d). All the above answers are correct.

24. Which is the appropriate approach for mobilizing this 8-year-old girl using a walking aid? She has hemiplegia of the right side and is aphasic. 

a). Two elbow crutches and instruct her on 3 point alternate gait.

b). One elbow crutch in the right hand and instruct her on 3 point alternate gait.

c). One elbow crutch in the left hand, place the crutch forward for her then indicate to her using signs, to follow with right leg.

d). One elbow crutch in the left hand, instruct her crutch forward then right leg to follow. 

25. Squirrel Boy is a 6-year-old who fell on a sharp object after a fall from a height 4 months ago. He sustained a deep cut on the spine at the level of T12. MRI reveals a deep cut on the posterior aspect of the cord. Neurological examination has elicited loss of proprioception in his lower limbs. Pain and temperature sensation is intact. He is able to walk with marked ataxia. Which of the following tracts must have been injured?

a). Lateral cortico-spinal tract.

b). Dorsal columns.

c). Vestibulo-spinal tract.

d). Lateral spinothalamic tract.

